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QUESTION 1

You must identify cold data before enabling FabricPool technology with NetApp ONTAP 9.8 software In this scenario,
which NetApp feature or tool would you, use ,to accomplish this task?

A. XCP File Analytics

B. Inactive Data Reporting
C. SnapMirror

D. Harvest

Correct Answer: B

QUESTION 2

Which two domain service providers are supported for authentication of Azure NetApp Files SMB shares? (Choose
two.)

A. Active Directory Domain Services (ADDS)

B. Azure Active Directory (Azure AD)

C. Azure Active Directory External Identities

D. Azure Active Directory Domain Services (AADDS)

Correct Answer: BC

QUESTION 3

You are designing a cloud storage solution for a customer in Microsoft Azure with strict security requirements. They
want to use Azure NetApp Files and they require "krb5p" for all NFS traffic. The workload is highly concurrent and
mostly sequential.

In this scenario, how will throughput be affected?

A. Throughput will be significantly decrease

B. Throughput will be slightly increased.

C. Throughput will not be affected.

D. Throughput will be slightly decreased.

Correct Answer: C

QUESTION 4
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You are designing a file services platform for unstructured data in Amazon Web Services (AWS). The primary workload
of your data is production file shares. Based on your assessment, you notice that only 10% of your data is "hot", which
equals 4 TB of storage. This active data set requires high performance storage. The remaining 36 TB of data is archive
data. To achieve cost benefits, you deploy Cloud Volumes ONTAP in AWS, associate two 4 TB disks with the
aggregate, and enable data tiering.

In Cloud Manager, which volume tiering policy would satisfy the requirements?

A. Snapshot only

B. None

C. All

D. Auto

Correct Answer: B

QUESTION 5

Which NetApp Cloud Manager feature would be enabled to support Immutability of the data?
A. NetApp Cloud WORM

B. NetApp Storage Encryption

C. NetApp Snapshot

D. NetApp Volume Encryption

Correct Answer: B
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